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Overall QC vs iteration

Py

L)

it thigy ¥+ bhid bitdttte,

134 5457
g g
3 3
2132 2,540
8 g
s s
130 535
128 i 2 53 i 2
Iteration # Iteration #
f Byt
8.5 25—““*““++ ”H H
g g
3 3
2 8- 2 20-
] E]
] ]
2 AP P R ) =
7.5+ . 150
1 | 1 |
[ 10 20 % 10 20
Iteration # Iteration #

ijaegle@jlab.org (JLab)

FCAL energy calibration QC

period8

3/15



Overall QC, summary distributions

@ 2 distribution

@ Fitted peak distribution

@ Fitted width distribution
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Overall QC, summary maps

@ Fitted peak map @ Fitted width map @ Gain map
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Overall QC, bad channels
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per ring

S

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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